Language and Vocabulary Practice I

1. What is the past tense form of must?

2. Which of the following sentences lack lexical cohesion,
a. I think he must have told her.
b. I’m sure he must have told her.

3. [bookmark: _GoBack]Explain the difference between,
a. He must have told her.
b. He should have told her.

4. What is the difference between,
a. They may have opened it.
b. They might have opened it.
c. They could have opened it.

5. Explain the difference between
a. You musn’t close the door.
b. You don’t have to close the door.

6. What do the following sentences mean,
a. She ought to have told them.
b. She could have told them.
c. She needn’t have told them

7. Explain the difference between
a. I must go and I had to go.
b. I needn’t have gone to the meeting and I didn’t need to go to the meeting.
c. I may have said it and I might have said it.
d. They can’t have eaten everything and they couldn’t have eaten everything.

8. Identify which of the following sentences is incorrect and explain why it is so,
a. They can’t have left yesterday.
b. They couldn’t have left yesterday.

9. Explain the meaning of the following,
· Pull-down menu
· E-commerce
· Podcast
· Silver surfer

10. Explain the difference between
· Engine and motor
· Engine and machine
· Factory and industry
· Social and social media
· Cyber security and cyber safety

